O ™A 1)/ m//nd W, x 2] §12?

7~ !

X

@15 @145 O 12 ® 105 © 105




O& 2904 4 G =

AABC 9] BAIFA ot

A FH 7t 242

GB, GC 9] $3°]1l oDFHE 7} AP A wf, AADE ©] €]

ol 15hw?

@ 18cm @22cm

® 26cm

@ 30cm ® 34cm
— — 1
DE //FH, DE = §B o|lm g
A D,E £ ZZ AB, AC 9] Fdolth
AD + DE + AE :—AB+ BC—I— AC

= 5(13 I 14 + 17) = 22(cm)




® 8cm @)10cm ® 1lcm

@ 12c¢m ® 1l4cm

~&B

QD °o|11
BD = 2MN = 30cm ©|2&

atebA PQ = %ﬁz 10cm

AP, Q=27 AABC, AACD ] BAZA o] B

D2 BP =

PQ =




o 193 e fEe U 9 o wid a5y
o

_'

EWATME%&@?

@ 60cm?® @ 64cm? @ 68cm?

@ 72cm? ®)76cm?

T2 gt Jhed YEge] Bzt 28em® 4 ), W olfe] §L

~&B

Al AE0 HaHl=1:2: 30|22 Fuo] Hl:=1:8:27°|tt.
g2t P:Q:R=1:7:19°]th

RO HuE xem? 2t 0 7:19 =28 : x

. x = T76(cm?)




